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IBERT  /DNEPFERRE

Hh i HIXE 1

Wy 4 Hi

1 %5 LHHHEDH: 8 F o> 9 (16B9L) SYERTHIE - 1 %L1
1%&H 5 Lotk 8&FHD 1 0 (16B10L) SrERTHIE 0 1 &1
1%H 5 LH ookt 8FKMD1 1 (16B11L) OYERTHIAE ¢ 1 KM 1
13&H 5 L&k 8&MMD1 5 (16B14L) OYERTHE - 1 &1
1 %&H 5 LH bt 9FHD 5 (15B5L) SYERTHIA ¢ 1 FHL 1
1% 5 Lotk 9FKHD 6 (15B6L) SYERTHIE 0 1R 1
1% 5 Lotk 9FK D 7 (15B7L) SYERTHIE ¢ 1 KM 1
1 &M 5 L &b Dk: 1 0&FE D1 (13B1L) ERTHIE 1M1
15 L btk 1 0FHD 2 (13B2L) YR o 1 F M
1% 5 LH oo 1 0% 3 (13B3L) OYERTHIAE ¢ 1 &M 1
1 %M 5 Lo beokt 1 0&EHoD 4 (13B41L) SYERTHE - 1B 1
1 %&H 5 L& oot 1 0FHD 5 (13B5L) SYERTHIA ¢ 1 FH
1% 5 Lotk 1 0&FHD 6 (13B6L) SyERTHIE 0 1 &1
1% 5 LH ookt 1 0%EHD 7 (13B7L) OYERTHIAE ¢ 1 KM 1
1 &M 5 L &b Dk: 1 0&FEMHD 8 (13B8L) ERTHIE - 1M1
15 Lotk 1 1% 3 (14B3L) YR o 1 M
1% 5 LH ookt 11%&%HMD 4 (14B4L) OYERTHIAE ¢ 1K1
1 &5 L ok: 1 1&HDS (14B5L) SRR - 11
1 %&H 5 L& ootk 11%HD6 (14B61L) SYERTHIA ¢ 1 FH 1
1% 5 Lotk 11&KH#MD 7 (14B7L) SrERTHIE o 1 &1
13%&H 5 LH ookt 11%HD 8 (14B8L) OYERTHIAE ¢ 1K1
1 &5 L Dk: 1 2F D1 (11B1L) SRR - 11
1M 5 Lot 1 2% 2 (11B2L) SYERTHIE - 1 &1
1% 5 LH ookt 1 2% 3 (11B3L) OYERTHIAE ¢ 1K1
1 %M 5 Lok 1 2% 4 (11B4L) SYERTHIE - 1M1
1 %&H 5 L& oot 1 2%HD5 (11B5L) SERTHIA ¢ 1 FH 1
1%&H 5 Lotk 1 2% 6 (11B6L) SyERTHE - 1 &1
1% 5 LH ookt 1 2%HD 7 (11B7L) OYERTHIAE ¢ 1 KM 1
1% 5 L ok: 1 2%HD 8 (11B8L) OYERTHE - 1EM
13&H 5 Lotk 1 3%&MD 1 (10B1L) SYERTHIE - 1 &1
1% 5 LH ookt 1 3% 6 (10B6L) OYERTHIAE ¢ 1 &1
1 &5 L Df: 1 3FEHD 7 (10B7L) SRR - 1 &1
1 %&H 5 L& oot 1 3%FHD 8 (10BS8SL) SYERTHIA ¢ 1 FH 1
1% 5 Lotk 1 5%FHD 3 (9B3L) SyERTHIE 0 1 &1
1% 5 LH ook 1 5FHMD 4 (9B41L) OYERTHIAE ¢ 1 &M 1
1 %45 L ok: 1 5%FHD5 (9B5L) SRR - 1 &1
1% 5 Lotk 1 5%&%MD 6 (9B61L) SYERTHIE - 1 &1
1%H 5 LH ookt 1 5 %D 7 (9B71L) OYERTHIAE ¢ 1K1
1 &5 L Df: 1 5%HD 8 (9B8L) SRR - 1 &1




IBEERT  /NEFEEEE

Hh % i HXE i

HT 4 Hu 2

1 % Hh 5 LoDt 1 5%&HMD9 (9B9L) YR - 1 M
13&H 5 LoDkt 1 5FHDO1O0 (9B10OL) SYERTHIE ¢ 1 F M1
1%H 5 Lotk 1 6F&FHD 1 (12B1L) SYEERTHE ¢ 1 M1
1 &5 L b ok: 1 6%&HD 2 (12B2L) STERTHIE - 1M1
1% 5 Ldbbd otk 1 6&FHD 3 (12B3L) SYERTHIZE ¢ 1 M 1
1% 5 Lo ofk 1 6 FHD 4 (12B41L) SYERTHIE ¢ 1 KM 1
1 %M 5 Lotk 1 6&HD S5 (12B5L) SRR ¢ 1 M1
1 % Hh 5 Lot 1 6&HD6 (12B6L) SRR o 1 &1
13&H 5 Lo Dk: 1 6FHD 7 (12B7L) SYERTHIE - 1 &1
1 &M 5 LHbodott 16 &Ko 8 (12B8L) SYERTHIE - 1 FH L
1 %H 5 LdhbEokt 1 6FHD 9 (12B9L) SYERTHE - 13FH
1% 5 L& oot 1 6&FHD10 (12B10L) SYERTHIZE @ 1 %M1
1 %&Hh 5 L& ook 1 6FHD1 1 (12B11L) YRS © 1 HN 1
13%&H 5 Lotk 1 6%&MD1 2 (12B12L) SYEERTHLE ¢ 1 i1
1 %5 Lotk 1 6FEMHD1 3 (12B13L) SYERTHIR ¢ 1351
1 &M 5 L &b oft 1 6FHMD1 4 (12B14L) STERTHIA ¢ 1 FHL 1
1%H 5 Lotk 1 6&HDOL 5 (12B15L) SYEERTHLE - 1 M1
1 %5 LbbE okt 1 6%FKHD16 (12B16L) SYERTHE - 13FH
1% 5 L bttt 1 7%FHD 9 (22B9L) SYERTHIZE ¢ 1 %M1
1% 5 L HEofk 2 9F MO 1 (23B1L) SYERTHIE ¢ 1 FH 1
13%&H 5 Lotk 2 9FMD 2 (23B2L) SYEERTHLE ¢ 1 i1
1 &5 L& oHE Ok 2 9FHD 3 (23B3L) SRR - 11
1% 5 L&t 2 9FH D 4 (23B4L) SYEERTHIZE ¢ 1 A1
1 %M 5 Lotk 2 9FHD 5 (23B5L) SYERTHIE - 1FH L
1 &5 L oEDF: 2 9F D 6 (23B61L) STERTHIE - 11
1% 5 L &bttt 2 9% M 7 (23B7L) SYERTHIZE @ 1 %M 1
13&H 5 LoDkt 30FMD 1 (30B1L) SYERTHIE ¢ 1 FH 1
1 %M 5 L bodott 3 0&FMD 2 (30B2L) SYERTHIE - 1 FH L
1 %H 5 Lo Ok: 3 0&FHD 3 (30B3L) SYEERTHE ¢ 131
1% 5 L&t 3 0&FHOD 4 (30B4L) YERTHIZE ¢ 1 M1
1%H 5 Lotk 30FMD 5 (30B5L) SYEERTHE ¢ 1 M1
17%H 5 L b otk 3 0&EHD 6 (30B6L) SYERTHIE ¢ 1 M1
1% 5 L bttt 30FMD 7 (30B7L) SYERTHIZE ¢ 1 %M1
13&H 5 LoDk 30FMD 8 (30B8L) SYERTHIE ¢ 1K1
8 i 1 L&tk 2 7THEMOT (29B7L)
8 Hih 1 L& oHE Dk 2 7THFEHOD 8 (29B8L)
8 T 1 LdbbE okt 2 7THHMD 9 (29B9L)
8l 1 L&tk 2 7HFE MO0 (29B10L)
8 &M 1 L& oHEDF: 2 7TFEMDOL 1 (29B11L)
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8 T 1 Lotk 2 7TERMD 1 (29B12L)
8 K ith 1 LdbbE okt 2 8 &M 7 (25B7L)
8 i 1 Lottt 2 87D 8 (25B8L)
8 Fith 2 L& otk 2 1 %MD 4 (18B4L)
8 i 2 L& okt 2 1 %Ko 1 (18B11L)
8 il 4 L& bE okt 17 &M 1 (22B1L)
8 it 4 Lot 1 7%/ 2 (22B2L)
8 T 4 Lotk 1 7% 1 (22B17L)
8 il 4 LdbbE okt 1 8FMHD 1 (24B1L)
8 i 4 L&ttt 1 8 FHLD 2 (24B2L)
8 %4 L Df: 1 8FHD 1 (24B17L)
8 F 1 4 L& bE okt 1 9% 1 (17B1L)
8 i 4 Lokt 1 9F&HD 2 (17B21L)
8 it 4 L&ttt 1 9% 3 (17B3L)
8 T i 4 Lotk 1 9% 4 (17B4L)
8 il 4 LdbbE okt 1 9FM®D 5 (17B5L)
8 i 4 L&ttt 2 0FEMO 1 (19B1L)
8 it 4 LbbE okt 2 0 &M 2 (19B2L)
8 F 1 4 LbbEokt 2 0 &KMo 3 (19B3L)
8 il 4 LdbbE okt 2 0 FHho 4 (19B4L)
8 it 4 L&ttt 2 0FEMD 5 (19B5L)
8 F 1 4 LbbEokt 2 0 &KMo 8 (19B8L)
8 F i 4 LdbbE okt 2 0 %KD 9 (19B9L)
8 it 4 L &btk 2 1O 6 (18B6L)
8 &4 L oEDF: 2 5F D1 (26B1L)
8 T i 4 L& okt 2 5 %KD 9 (26B9L)
8 il 4 LdbbE okt 2 5 &M 1 (26B10L)
8 i 5 L&ttt 1 7FMO 7 (22B7L)
8 FHh 5 L HHHEDH: 1 7F&FHD S (22B8L)
8 i 5 LdbbE okt 173D 1 (22B10L)
8 i 5 L&tk 1 7FHD 1 (22B11L)
8 &M 5 L Df: 1 7%/HD 1 (22B12L)
8 i 5 L& bE okt 1 8 &Ko 7 (24B71L)
8 K ih 5 L&kt 1 8F&MHD 8 (24B8L)
8 Hih 5 L&tk 1 8 FHD 9 (24B9L)
8 ih 5 L ok: 1 8FHD 1 (24B10L)
8 F: i 5 LdbbE okt 1 83F D 1 (24B11L)
8 i 5 L&tk 1 8 FHLD 1 (24B12L)
8 &1 5 L& oHEDF: 2 6 F D1 (28B1L)
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8 K 5 LoDkt 2 6 KM 2 (28B2L)
8 i 5 Lo beotk 2 7THFMOD 1 (29B1L)
8 & 5 Lot 2 7THEHD 2 (29B2L)
8 ih 5 L b ok: 2 7TFEMOD 3 (29B3L)
8 H i 5 Lot 2 7HKHMD 4 (29B4L)
8 i 5 L& be otk 2 7TFMD 5 (29B5L)
8 &M 5 L btk 2 7TEHD 6 (29B6L)
8 Hih 5 Lokt 2 7THKMD1 3 (29B13L)
8 i 5 L& beotk 2 7THMD1 4 (29B141L)
8 & 5 Lot 2 7THEHD1 5 (29B15L)
8 ih 5 L Df: 2 7TFEHMDL16 (29B161L)
8 i 5 Lot 2 7TH/RMD 17 (29B171L)
8 i 5 Lo beotk 2 8 &M 1 (25B1L)
8 & 5 Lot 2 8FHD 2 (25B2L)
8 Hih 5 Lokt 2 8 &KMo 3 (25B3L)
8 i 5 L& be otk 2 8FHD 4 (25B4L)
8 & 5 Lot 2 8FHD 5 (25B5L)
8 e ih 5 L ok: 2 8F D 6 (25B61L)
8 i 5 Lot 2 8 FKMD 9 (25B9L)
8 i 5 L& beotk 2 8FHD1 0 (25B10L)
8 & 5 L&t 2 8%FMdD1 1 (25B11L)
8 i 5 LHbtott 2 8FHD1 2 (25B12L)
8 H i 5 Lotk 2 8&FEHD1 3 (25B13L)
8 FHh 5 Lot 2 8FHD1 4 (25B14L)
8 &1 5 LHbEDk: 2 8 %KM 15 (25B15L)
8 i 5 LHbotott 2 9FKMD 8 (23B8L)
8 i 5 Lotk 2 9FHD 9 (23B9L)
8 & 5 Lot 29%FMD 10 (23B10L)
8 FHih 5 L& beokt 2 9% MD1 1 (23B11L)
8 Fhh 7 Lotk 1 7% 3 (22B3L) SYERTHIE - 8 Fi 4
8 &t 7 LH ookt 1 7F%HMD 4 (22B4L) OYERTHIE - 8 F 4
8 Fih 7 L Df: 1 7%FHD 5 (22B5L) SRR . 84
8 FHih 7 L& oot 1 7%HD6 (22B6L) SERTHIE ¢ 8 Fhh4
8 Fih 7 L&t 1 7FHD1 3 (22B13L) SERTHIE - 8 FHL4
8 Fih 7 LH ook 1 7&FHO1 4 (22B14L) OYERTHIE - 8 F M4
8 Hih 7 L ok: 1 7&FH#D15 (22B15L) SRR . 84
8 i 7 L& oot 1 7%&%HMD1 6 (22B16L) SYERTHIE - 8 Fii4
8 &t 7 LH ookt 1 8 &KMo 3 (24B3L) OYERTHIE ¢ 8 F M4
8 i 7 Lo bEokt 1 8 & 4 (24B41L) SYERTHE - 8 i 4
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8 i 7 LHHHEDH: 1 8FHD 5 (24B5L) YERTHIE - 8 F M4
8 i 7 Lotk 1 8FHD 6 (24B6L) SrERTHIE - 8 Fhh4
8 FHh 7 LH ookt 1 8%&HD1 3 (24B13L) YRR ¢ 8 F M4
8 F i 7 LHbEDk: 1 8FHD1 4 (24B14L) SYERTHE - 8 i 4
8 Fih 7 LH bt 1 8&FHD15 (24B15L) SERTHIE ¢ 8 Fih4
8 Fih 7 Lot 1 8%FHD1 6 (24B161L) SYERTHIE - 8 FHL4
8 & hh 7 Lotk 2 5 &M 2 (26B2L) SYERTHIE @ 8 i 4
8 FHih 7 L HHHEDH: 2 5&HMD 3 (26B3L) YERTHIE - 8 FKH 4
8 i 7 L btk 2 5 FHD 4 (26B4L) SYERTHIE ¢ 8 Fhh 4
8 & hh 7 LH oo 2 5&EHD 5 (26B5L) OYERTHIE - 8 F M4
8 7 Lotk 2 5 %MD 6 (26B6L) SYERTHIE © 8 F i 4
8 FHih 7 L& oot 2 5FKHD 7 (26B7L) SERTHIE ¢ 8 Fhh4
8 i 7 Lotk 2 5FHD 8 (26B8L) SrERTHIE - 8 Fih 4
2 3% 4 LH ookt 2 1&HD 1 (18B1L) OYERTHIAE ¢ 2 3FM 1
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5 8 F: i 2 L& bE okt 4 FHo 1 (3B1L)
5 8% 2 L &bttt 4 FHD 2 (3B2L)
5 8%t 2 Lottt 4K 3 (3B3L)
5 8 Fith 2 L& otk 4 FHo 4 (3B4L)
5 8 F: i 2 L& okt 4FHD 5 (3B5L)
5 8% 2 L &bttt 4 FHD 6 (3B6L)
5 8% 2 Lot 4 {7 (3B7L)
5 8 F: i 2 L& bE okt 4% 1 3 (3B13L)
5 8 F: i 2 LdbbE okt 8 H D 5 (16B51L)
5 8% 2 L&ttt 8 D 6 (16B6L)
5 8 Fih 3 Lotk 1 &Moo 1 (6 B1L)
5 8 F: i 3 L& bE okt 1 &Ko 2 (6 B2L)
5 8% 3 L &bttt 1 & 3 (6 B3 L)
5 8% 3 L&ttt 1 ZF o 4 (6B41L)
5 8 F: i 3 L& bE okt 1 &Ko 5 (6 B5L)
5 8 F: 3 LdbbE okt 1 & 6 (6 B6L)
5 8% 3 L&ttt 1D 7 (6 B7L)
5 8 % 3 LDk 17D 8 (6 B8L)
5 8 F i 3 L& okt 1 &KMo 9 (6 B9 L)
5 8% 3 L &bttt 1FHD 10 (6B10L)
5 8% 3 L&ttt 2FHD 1 (7B1L)
5 8 #Fih 3 L& oHE Ok 2 %MD 2 (7B2L)
5 8 F: 3 LdbbE okt 2 F M 3 (7B3L)
5 8% 3 L &btk 2FHD 4 (7B41L)
5 8 #FHh 3 L oEDF: 2 %MD 5 (7B5L)
5 8 F: 3 L& okt 2 F D 6 (7B6L)
5 8% 3 L&ttt 3&FHD 1 (6B1L)
5 8% 3 L&ttt 3FEHD 2 (6B2L)
5 8% 3 LoDk 3 &M 3 (5B3L)
5 8 & 3 LdbbE okt 3FE D 4 (5B4L)
5 8% 3 L&tk 3FEHD 5 (6B5L)
5 8% 3 Lo Ok: 3FHMD 6 (5B61L)
5 8 F: i 3 L& bE okt 3FEMD 7 (5B7L)
5 8% 3 L &btk 3&E D 8 (5B8L)
5 8% 3 L&tk 3FEHD 9 (6B9L)
5 8 &M 3 L ok: 3FEHD 10 (5B10L)
5 8 F: i 3 LdbbE okt 3FEMD 1 1 (5B11L)
5 8% 3 L&tk 3FHD 1 2 (6B12L)
5 8 &M 3 L& oHEDF: 3&EMD1 3 (5B13L)
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5 8 F: i 3 L& bE okt 3FHIOD 1 4 (5B14L)
5 8% 3 L &bttt 3FEHD 1 5 (6B15L)
5 8% 3 Lottt 3FHD 1 6 (6B16L)
5 8% M 3 LoDk 3FEMD 17 (56B17L)
5 8 F: 3 L& okt 4 FHo 8 (3B8L)
5 8% 3 L &bttt 4 FHD 9 (3B9L)
5 8% 3 Lot 4F MO 10 (3B10L)
5 8 #: i 3 L& bE okt 4FHD1 1 (3B11L)
5 8 F: 3 LdbbE okt AFHD 1 2 (3B12L)
5 8% 3 L&ttt 5&EHD 1 (2B1L)
5 8% 3 L& oot 5 & HD 2 (2B2L)
5 8 F: i 3 L& bE okt 5FHIOD 3 (2B3L)
5 8% 3 L &bttt 5 &M 4 (2B4L)
5 8% 3 L&ttt 5&EHD 5 (2B5L)
5 8 F: i 3 L& bE okt 5FHID 6 (2B6 L)
5 8 F: 3 LdbbE okt 5&FMD 7 (2B7L)
5 8% 3 L&ttt 5&HD 8 (2B8L)
5 8 &M 3 L ok: 5%&Ha 9 (2B9L)
5 8 F i 3 L& okt 6 FHH1D 1 (4B1L)
5 8% 3 L &bttt 6 Fiio 2 (4B21L)
5 8% 3 L&ttt 6 FHLD 3 (4B3L)
5 8 #Fih 3 L& oHE Ok 6 HHD 4 (4B4L)
5 8 F: 3 LdbbE okt 6 F D 5 (4B5L)
5 8% 3 L &btk 6 FHLD 6 (4B6L)
5 8% M 3 L oEDF: 6 FHD 7 (4B7L)
5 8 F: 3 L& okt 6 FHID 8 (4B8L)
5 8% 3 L&ttt 6 EHio 9 (4B9L)
5 8% 3 L&ttt 6 FHD 10 (4B10L)
5 8 3 L& oot 6 FHid 1 1 (4B11L)
5 8 & 3 LdbbE okt 6 FHio 1 2 (4B12L)
5 8% 3 L&tk 6 FHuod 1 3 (4B13L)
5 8% 3 L& oot 6 FHD 1 4 (4B14L)
5 8 F: i 3 L& bE okt 6 FHD 1 5 (4B15L)
5 8% 3 L &btk 6 FHLD 1 6 (4B16L)
5 8% 3 L&tk 6 FEHD1 7 (4B17L)
5 8 &M 3 L ok: 6 &FMD1 8 (4B18L)
5 8 F: i 3 LdbbE okt 7 Feho 1 (1B1L)
5 8% 3 L&tk 7 FHD 2 (1B2L)
5 8 &M 3 L& oHEDF: 7HHD 3 (1B3L)
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5 8 3 LHbtott 7 FEH D 4 (1B4L)
5 8 %M 3 LH btk 7FHD 5 (1B5L)
5 8 %KM 3 Lot 7TEHO 6 (1B61L)
5 8 #FHh 3 L b ok: 7THEMD 7 (1B7L)
5 8 3 Lot 7 FEH D 8 (1B8L)
5 8 %KM 3 L&H ootk 7 FHD 9 (1B9L)
5 8 &M 3 L btk TEHO 10 (1IB10OL)
5 8 i 3 LHbtott 7TEHDL (1B11L)
5 8 3 L& beotk 8 HHhod> 7 (16B7L)
8 3 &M 7 LH oo 1 3FHMD 2 (10B2L) OYERTHIE © 8 3EM 1
8 3 &M 7 Lotk 1 3%FMD 3 (10B3L) Ak LilREES 3 & Hh1
8 3&EM 7 L& oot 1 4% 1 (8B1L) 57 AT I 3 %M1
8 3% 7 Lotk 1 4%FHD 2 (8B2L) o3 HiT 3% H1
8 3 &M 7 LH ookt 1 4%HD 3 (8B3L) Ak LilPEES 3 %M1
8 3FH 7 L HHHEDH: 1 4FHD 5 (8B5L) oy R 3% 1
8 3% M 7 L& ootk 1 5&HD 1 (9B1L) oy R HIE 3 %M1
8 3 &M 7 LH ookt 1 5FHMD 2 (9B21L) Ak iIEES 3 %M1
8 3#&M 8 L bttt 8 &> 1 (16B1L) gae LlIREES 3% Hh 2
8 3&E M 8 LdH oot 8 HHd 2 (16B2L) 57 AT 3 % Hh 2
8 3&FM 8 Lot 8 FHio 3 (16B3L) o3 HiT 3 % Hh 2
8 3 &M 8 LH ookt 8 F o 4 (16B4L) Ak LilPEES 3 % 2
8 3% 8 LHHHEDH: 8 F o> 8 (16BS8L) YRR 3% 2
8 3% M 8 Lot 8 &M 1 2 (16B12L) 5y R 3 % 2
8 3 %M 8 L&H ootk 8 &1 3 (16B15L) o3 HiT 3% 2
8 3 &M 8 LdHoE ot 8 &HID 1 4 (16B13L) Ak LIREES 3 &M 2
8 3% M 8 LdH bt 9 FHID 1 (15B1L) oy AT 3 % Hh 2
8 3FM 8 L& oot 9 KD 2 (15B2L) GAlE TEIBEIES 3 & Hh 2
8 3 &M 8 LH ookt 9% 3 (15B3L) Ak LilPEES 3 % 2
8 3 &M 8 Lttt 9FEHD 4 (15B4L) ga LilIREES 3% Hh 2
8 3&EM 8 Lotk 9 &M 8 (15B8L) 57 R 3 % 2
8 3 &M 8 Lttt 11F%H#D 1 (14B1L) Ak {ilPEES 3 &M 2
8 3 &M 8 L Df: 1 1&E D 2 (14B2L) SRR 3 2
8 3&EH 8 L bk 1 3% M 4 (10B4L) o7 AT 3 % Hh 2
8 3FM 8 L& ootk 1 3&FH®D 5 (10B5L) PalE TEIBIEES 3 % Hh 2
8 3 &M 8 LH ook 1 4FKHMD 4 (8B4L) Ak iIE LS 3% 2
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56 %K1 LdbbE okt 2 0 FHho 7 (19B7L) SYERTHIR @ 5 6 T
56 %&H1 L &bttt 2 0FMHD 1 (19B10L) Gy SR 6 %
56 &1 Lo Dkk 2 1%&HD 2 (18B2L) SYEERTHIE @ 5 6 Tl
5 6 Z&Hh 1 Lo bt 2 1M 3 (18B3L) 53 R 6 ZHh
56 %M1 L& oot 21 %MD 5 (18B5L) 53 ERiTHE 6 % Hh
56 &M 1 L &bttt 2 1 &7 (18B7L) Ak LilpEES 6 i
56 %&H1 L b Ofk 2 1 %&HOD 8 (18B8L) gak AiIPLEIS 6 2 H
56%&H1 L& oHE Ok 2 1%&HD9 (18B9L) R 6 &
56 %M1 L &b oft 2 1 &M 1 (18B10L) Sa illpeuRis 6 %
56 &1 Lot 2 2FHO 1 (20B1L) SYERTHIE - 5 6 FH
5 6 Z&Hh 1 LoDt 2 2D 2 (20B2L) STERTHIE ¢ 5 6 &M
56 %M1 L& oot 2 2% 3 (20B3L) SYERTHIZE @ 5 6 F il
56 FH1 L &bttt 2 2D 4 (20B4L) YR ¢ 5 6
56 %M1 Lot 2 2% 5 (20B5L) SYERTHIE - 5 6 FH
56 %K1 LbbE okt 2 2 %MD 6 (20B6L) SYERTHIR @ 5 6 i
56 %M1 Lo Dk: 2 2FHD 9 (20B9L) o3 i 6 %
56 &1 Lot 2 2FHO 1 (20B10L) SYEERTHLEE ¢ 5 6 Fih
5 6 % 1 L &HoEDk: 2 23D 1 (20B11L) 53 4 R 6 Zih
56 %M1 L& ootk 2 2 %MD 1 (20B12L) 57 ERTHE 6 %
56 %M1 Lotk 2 2FHD 1 (20B13L) SYERTHIE ¢ 5 6 Kl
56 &1 Lotk 2 2% 1 (20B14L) SYEERTHLEE ¢ 5 6 FHih
56%&H1 L& oHE Ok 2 3FHD 1 (21B1L) SRR - 5 6 i
56 %M1 L&t 2 3FHD 2 (21B2L) SYERTHIZE @ 5 6 F il
56 %2 LH ookt 2 0FMD 6 (19B6L) SYEERTHLE ¢ 5 6 Fih
56 &2 Lo bt 2 2%/MD T (20B7L) STERTHIE ¢ 5 6 &M
56 %2 L& oot 2 2% 8 (20B8L) SYERTHIZE @ 5 6 il




IHfEFT HoE=TH
Hh i HIXE 1
Wy 4 Hi

5 4 %3 Lotk 2 4FEHOD 1 (27B1L) SYERTHIE - 5 4% 1
54 %3 Lot 2 AFHD 2 (27B2L) YERTHE - 5 4%
54 %3 LH ookt 2 4 FHD 3 (27B3L) YERTHE - 5 4% 1
5 4% 3 L b ok: 2 4% D 4 (27B4L) TR - 5 4F M1
5 4 %FH 3 L& oot 2 4FKHD 5 (27B8L) SERTHIE - 5 4/
54 %3 L& ootk 2 AFHD 6 (27B6L) YERTHE - 5 4%
54 %3 Lotk 2 AFHD 7 (27B7L) YRR - 5 4 &M 1
5 4 %3 L HHHEDH: 2 4 %D 8 (27B10L) SYERTHIE - 5 4% 1
5 4% 3 L& ootk 2 AFHD 9 (27B5L) YERTHE 5 4%
54 %3 LH oo 2 4FMD10 (27B9L) OYERITHE - 5 4% 1




